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CHAPTER 1:  Numerical Computation 
 
Distance = Rate × Time                   Amount = Rate × Base   (where rate is in decimal form)  
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CHAPTER 2: Algebra   
 
(a ± b)2 = a2 ± 2ab + b2               a2 − b2 = (a − b)(a + b)      
 
Given nonzero real numbers x and y, and integers m and n: 

𝑥𝑥1 = 𝑥𝑥                                       𝑥𝑥0 = 1                                    𝑥𝑥−𝑛𝑛 =
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CHAPTER 7:  Right Triangles and Vectors 
 
 1 rev = 360˚ = 2π radians     10 = 60′          1′ = 60′′         1 𝑟𝑟𝑟𝑟𝑟𝑟 ≈ 57.30  

 
Given (x,y) ≠ (0,0) on terminal arm of angle 𝜃𝜃, let 𝑟𝑟 = �𝑥𝑥2 + 𝑦𝑦2 , then, 
 
sin(𝜃𝜃) = 𝑦𝑦

𝑟𝑟                                    cos(𝜃𝜃) = 𝑥𝑥
𝑟𝑟                             tan(𝜃𝜃) = 𝑦𝑦

𝑥𝑥     
 

         csc(𝜃𝜃) =  1
sin ( 𝜃𝜃)          sec(𝜃𝜃) = 1

cos ( 𝜃𝜃)  cot(𝜃𝜃) = 1
tan ( 𝜃𝜃)  

 
𝑐𝑐2 = 𝑎𝑎2 + 𝑏𝑏2 (Pythagorean Theorem) 

 
sin(𝜃𝜃) = opp

hyp  cos(𝜃𝜃) = adj
hyp  tan(𝜃𝜃) = opp

adj   
 
 



CHAPTER 15:  Oblique Triangles and Vectors 
 
𝑐𝑐sc 𝜃𝜃 =  1

sin 𝜃𝜃  sec 𝜃𝜃 =  1
cos 𝜃𝜃

 cot 𝜃𝜃 =  1
tan 𝜃𝜃

  
 
sin𝜃𝜃 = sin(180° − 𝜃𝜃) cos 𝜃𝜃 = cos(360° − 𝜃𝜃) tan𝜃𝜃 = tan(180° + 𝜃𝜃) 
 

Law of Sines:    
a

sinA
  = b

sinB
=  c

sinC
    

 
 
 
Law of Cosines: 

𝑎𝑎2 = 𝑏𝑏2 + 𝑐𝑐2 − 2𝑏𝑏𝑏𝑏 cos𝐴𝐴     𝑜𝑜𝑜𝑜    cos𝐴𝐴 = 𝑏𝑏2+𝑐𝑐2−𝑎𝑎2

2𝑏𝑏𝑏𝑏
    

𝑏𝑏2 = 𝑎𝑎2 + 𝑐𝑐2 − 2𝑎𝑎𝑎𝑎 cos𝐵𝐵    or    cos𝐵𝐵 =
𝑎𝑎2 + 𝑐𝑐2 − 𝑏𝑏2

2𝑎𝑎𝑎𝑎
    

𝑐𝑐2 = 𝑎𝑎2 + 𝑏𝑏2 − 2𝑏𝑏𝑏𝑏 cos𝐶𝐶      𝑜𝑜𝑜𝑜   cos𝐶𝐶 =
𝑎𝑎2 + 𝑏𝑏2 − 𝑐𝑐2

2𝑎𝑎𝑎𝑎
   

 
 
CHAPTER 16:  Radian Measure, Arc Length and Rotation 

 
1 rev = 360˚ = 2π radians   
 

Arc Length:       𝜃𝜃 =  𝑠𝑠
𝑟𝑟
   (where 𝜃𝜃 is in radians) 

Area of a Sector:      A =  r
2θ
2

         (where 𝜽𝜽 is in radians) 

 
Area of a Segment:     
 

𝐴𝐴 = 𝑟𝑟2arccos �𝑟𝑟−ℎ𝑟𝑟 � − (𝑟𝑟 − ℎ)√2𝑟𝑟ℎ −  ℎ2          (𝑤𝑤ℎ𝑒𝑒𝑒𝑒𝑒𝑒 arccos   �𝑟𝑟−ℎ𝑟𝑟 �  is in radians)   
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